o

w

S

o

w

o

w

)

w

S

S

w

-~

)

w

S

o

w

-~

o

w

20245 FTFEV v 7 V2=2TT=2AKRE I6BRUTBEF LU ITNVR KPR TE

TM6ESA18A (1)

235 S AR—Y R~ (BPAY ALZ16/)

@ %Tf?gﬁ(m D?E%;ﬁi(% tiéit};‘#(dx ﬁmﬁﬁf?(\ﬂ e *f;z:ux iz Xﬁj‘%ﬂj%ﬁﬁl:’sé
BB (I 3—6[6—0|1—6] 1-2]|0.4545 3 ] .
BRgm (4|6 — 3 6—1|0—6]| 21 |0.5455| 2 ﬁgi%;ﬁ%gggg?gh\gigﬁfﬁg%ggg“%
Kt (h)0—6|1—6 0— 6| 0-3 |0.0526| 4
EH KR (HES)) 6 —1[6—0]6—0 3-0 0.9474| 1
| REREROD |
@ Py | T (| O w | Zh®| i | AT E o 1f - 20T, REWGERE K, T ORI b0k
IHPR ARV FET 2, (=2 MY —BOZVEKIZHOWTIE, ¥k HH Y
R (K A bR 7T®6[6—1 — 2-0 | 0.65 1 B5,)
EE i (m)| 6 © 7 1—6| — 171|035 3 |1ﬂ|l<ﬁ$ﬂ(%%&aﬁ>jl1
FREL} L))l —6]6—1 — 1-1 | 0.5 2 P QNS )
— — — [semma oxam 62
4 A F R (L) 2
® tm@jm;(t M&A;)’/\ (Fk ﬂn*;;i; O r;m;ﬁ;‘:(m Wi | 7 | 5 8 B (K = ):M .
KK #HHE (K =) 6—3|6—2|6—0] 3007826/ 1 6 H Ak (4 W)
A A () 3 — 6 1—6[6—0| 1-2|0.4545| 3 TLEEMAM S (E ) 63
EHERT (M) 2 —6|6—1 6 — 1] 2-1 |o.6364| 2 swaﬁ%(%uq):'_ 4
Fmis )| 0—6|0—6|1—6 0-3 [o.0526] 4 | [ommaw cmme 60 .
05| -«I>:'_
@ I e e ) BT [P e |11 FoE s (bR )t'i ]
HOHEWAR C de) 6—2|0—6|6—1]2-1|0.5714] 2 12 9k O (4w )
oA (T 2 — 6 1—6(3—6]03]02| 4 13K MR (K =) 62
LA E () 6 —0]6—1 6 — 0| 3-0 |0.9a74] 1 14Emﬁ<@mw&>:|_ !
R E (4 )1 —6|6—3]0—6 1-2 [0.3182 3 15 50T B AR (4 ) 61
165&%!3!47(/%41:):'_8
® f",ﬁm%;(, a2 \'i)k [@N Jumglﬁg(w .smﬁ%;;’aaw Wik H@ilu A
BEE (45 m) 6—1|0—6|6—3]|2-1 |0.5455 2 | rzErero |
HEmk ()1 —6 0—6|0—6| 0-3]00526 4
RFEWREH OO L TR 21TV, HBH~IREZRET D,
JIBEAL ()] 6 — 0] 6 —0 6 —01] 3-0 1 1
AR )| 3—6[6—0]0—6 1-2 [0.4286| 3 |1%ﬁﬁﬂvfli(/J\$ﬁ)jL9
20 A FF R (I
® 185 KA 0 P O AR O g [ 72281 g | S B W (K =) 61 0
A0 (0 ) 6—2|2—6|6—0] 21 |0.6364 2 4R OB (4 W)
WoAGE K (W H)| 2 — 6 4—6|6—3| 1-2 [0.4444| 3 |5’T’w£iF()\liI)jL11
taEE ()6 —2]6—4 6—0] 30075 1 6 JF K B (4 W)
Ak ()l 0—6|3—6|0—6 0-3 [o.taze] 4 | [rxmme (x =) 60 .,
sifiﬁlﬂ'#’#(d\m):'_
@ BAHE O [T ORI O3 TRER O gy [ 720 T gy
kD () 0—6|0—6[0—6|03| 0 | 4 | REXREERO |
KMEMHE (KZ)]6—0 6 —0|6—0] 30 1 1
REREHK QO L TR ZITO, BIREEZRET D,
N st (5 )| 6 —0|0—6 4— 6] 1-2 |0.4545) 3
AR )6 —0|10—6(6—4 2-1 [0.5455] 2
L& & X (i) 61
W O | RATIEIR OT| JEIEERD (7 m | 7l | g CERE (4@ ):= 5 .,
WO (k) 4—6|5—7 — 0-2 |0.4091| 3 3HHEW (5 H) 62
B R (BT 6 — 4 6 —3 - 2-0 [0.6316| 1 45 R BT (b )
R (4 W) 7T—5|3—6 — 1-1 |0.4762| 2




2024FEFIBEIFFRA /P2 =TT =R BFHERAERUL 6 FFHEXTE KR
H KF 2024455 A11H (£) - 12H (H)
&4 ZElEE ANMT = A a— |
¥ ORREMGH14 (BT a7 1L 240 (Y VEER) OLRA4 487y s 360 (OOMFE) 12X 25 RkBE 34)
R TR L T D BEEIAROBEZHB L LTS

aryyl—vay aryr—var

THL R ER @meitg) - (BLES)

BYE BYE
BYE
m B FEEETE) - (BILPE%R) =
® % B GALI® 62 (HALTE) 62
2\ #A 5~8 HH B 5~8
- 5 2 @ # A (MURS) 7 (HEEEDE) s
m e 6 & @ X # (RLIB) x (LT E)
62 .
7 BYE
N BYE o4 . BYE J—é?
8 B M B A RLEES) == 8 F B W (ALEE s
R 1~4 Ml BE¥  1~a
B BEH 1~8 B BAR 1~8
1B KB (ZEBITC) i — B (HE®)

2 BYE BYE
3w A R (mbuI®) 3 R (RMLIFE)
4t " F W RILEES) % % B FREETH)
B #5 wE —H
5 Il R/ RLTIE) 2 — H (BILES)
nE 64 £ {0 (RILES) 3 R CNIT £ S
60 7 BYE BYE
8F B H B ocoxomwo 03 B} @mrers
R FIR 1BE B
HE 2 #BeL E3
TINE R (ERPER) i} B K @i
2 BYE BYE BYE

3H A B} (BRI
4R N FEBHA GRLEES)
R #E

A B GALIH)

® OB GRALER)
#TE &F 5~8

58 E &K GALTH) ® B8 LEES)

Bl - & MoA GRLE £ E A RUES)

64 ; 63
7 BYE 7 BYE
L e || am L T
8K A £ R HFEAFETE) 8 T # F (BbLIE)

=

Al ER 1~4 ic):= sk 1~4
BE &K 1~8 BE EA  1~8

BARERE b—F Av b (BEPNRREHERE)

B A R T T esmm———
somvool [ F & | duE) —dA

X

2709534 [F Il & 5| GRWUTE) [y
5TAvosH |8 B — | GRLEE) N
3JOvs3f (K B 82 & <%ﬁm%£m%>‘—lz§_
470vH3k (M L B E| AUTE) [t 8




20244 FIREFFR/AVIT V2T TARRUIEFHRFE HR

Hl BH Sf6&E5A118 (%)

2 1§ FEIJL—5UK BX&# 2K
EFR)—TDIOAVIEIHEIDAYVET,
FERTR1TOvI1E2T Oy 260, 1T 0vs2{ 2T Ovs 1 A B LB AL HIE £ RELES,
FEE TR IOVIMDEETHEELET .
BIENH IS 2 AT [LERLAL, U AR T)—FBETLET,
TANTLEEN GBS X U— 8. B A2 40 ABERTEELHYET, TERIS,
BBARLESIE. S —LBEECHNT 5, (AP OIMBLEY—LE) /(25— L)

HENE BAY—5#I ANY—5 %
giEa]| 0-@ | miEe | 0-@ | #mama | 0-@
F2HE @-03 F2HE @-03 FE5HE (OO
E3HE (O©) FEIHE (O©) FoHE Q@—@
BFFE)—J 8
KEFfELR TR ERE—
1 K £ B4 B ER =t
=MEs FK FH
@D [KEpEIE =/ 6 — 0|6 — 4 2% 1
@ |HEiLIEE FK 0 — 6 2 — 6 Ol 28K 3
@ [ERE— FH 4 — 6|6 — 2 15 15K 2
PERLY N BAREE BEREE
2 K % Bk 5 ER [t
FrEt =5 FK
ORE:ILY.N FEh 6 — 206 — 1 21508k 1
@ |BREE =fh |2 - 6 1 — 6 O 28K 3
O EES K 1 — 6|6 — 1 1B 18 2
B K& H ISR TEE
170990141 KEFFETE =&t 76(5)
RAAE
27095 D241 EREE FK
B K& HIGREE
27095 D1 HETA e o
BRERE
170v D241 ERE— FIH
5. 60 iREEL
170v5 34 L FK —IL




BF BREASHIGE
A EKBA 5
HiE &Rk 5
F H fE R S
K Fafin AER JIGT
BJIKH 5T
BIEEAN ;T
FHE} ;T
R TN
5 15 ¥H5 IR
AEHRE K=E

| AR X=§
tEREZ | HiEESE
HiZEX 7
A& 70 [E] cp R |
= HEAE XERRT
JTEX BRfE
JIEE# BR{&E R
EIRBF Rk BH{E
2P =5 ENTEEIS))
BE FE MILES
g FLE | (RILES)
ME WILES)
INE TEA NS
58 —85 NITETD)

A GARZEK | WL %)
T 5EE (€N EE D)
HE ZEX ILTE)
BYE #4 | GALTE)
x_mA € NIIE[A=S
Fith NMA WNITE[A=))
AR 1 [CNITES D)
tH F# [ GALFERE)
EAX Bz (HTHE)
EE HE (FTHE)
ELCEES (FTH=)
EE g (HTHE)
=H & (%ﬁg.%)
ﬁ/g\ _E _él_
HwE e (HTH=)
i (FTHE)
AT —hk (FHE
Bl KE |FEHEETE)
FaE = (FEEEHE)

LFH BEAE |HEEEDE)
Kt 28 |@HEEEYS)

JALRAF B | @@Erieots)
2 =3l (BEF L)
=& BRX (BB AEE)
x5 (BIEFLTY)
weh Bt [(BEALEY)

W AR | (BENLEY)

g kB | (EENLtEY)

| ER FAER | (ZESITC)

EH = (BRXFFER)

J\FH HE%= (BHHER)

=2E B (WINNER)

== (WINNER)
ZEEBEA FE

| Sms=Er FK
A EREA FEH
A IR 3¢ FrEH
EIOA FEH
AR EFE F
ZHIEX F




